
Quest ce que le cadeau  A' - ? ( )Quel nombre se trouve dans chaque cadeau?
1,657 - 773 = 300 - 267 = 826 - 146 =1,439 - 488 = 1,780 - 945 = 1,554 - 970 =1,073 - 290 = 1,458 - 596 = 1,151 - 802 =463 - 363 = 1,049 - 822 = 962 - 459 =1,183 - 288 = 1,125 - 469 = 953 - 827 =837 - = 346 848 - = 737 1,124 - = 6641,731 - = 779 1,233 - = 791 1,002 - = 752537 - = 346 300 - = 72 1,470 - = 725477 - = 393 704 - = 349 1,488 - = 982677 - = 185 912 - = 768 764 - = 491- 243 = 528 - 167 = 24 - 856 = 494- 617 = 304 - 94 = 619 - 550 = 160- 827 = 732 - 591 = 877 - 186 = 997- 149 = 43 - 507 = 623 - 408 = 156- 602 = 721 - 884 = 612 - 953 = 349
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Quest ce que le cadeau  A  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
1,657 - 773 = 884 300 - 267 = 33 826 - 146 = 6801,439 - 488 = 951 1,780 - 945 = 835 1,554 - 970 = 5841,073 - 290 = 783 1,458 - 596 = 862 1,151 - 802 = 349463 - 363 = 100 1,049 - 822 = 227 962 - 459 = 5031,183 - 288 = 895 1,125 - 469 = 656 953 - 827 = 126837 - 491 = 346 848 - 111 = 737 1,124 - 460 = 6641,731 - 952 = 779 1,233 - 442 = 791 1,002 - 250 = 752537 - 191 = 346 300 - 228 = 72 1,470 - 745 = 725477 - 84 = 393 704 - 355 = 349 1,488 - 506 = 982677 - 492 = 185 912 - 144 = 768 764 - 273 = 491771 - 243 = 528 191 - 167 = 24 1,350 - 856 = 494921 - 617 = 304 713 - 94 = 619 710 - 550 = 1601,559 - 827 = 732 1,468 - 591 = 877 1,183 - 186 = 997192 - 149 = 43 1,130 - 507 = 623 564 - 408 = 1561,323 - 602 = 721 1,496 - 884 = 612 1,302 - 953 = 349
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